Work and wages

Concept Lecture - 4




A can do a piece of work in 12 days and B in

18 days and they are paid Rs.250 for a

work. Find the share of A?

A & 7 # 12 AT & Tur B 3¢

HH F 18 el H FT ThaT § 3R &

FH F AU 37 250 9T FT EICAE

fFar ST 81 A FT RREar A A
150 b) 100

c)175 d) 225




A, B and C can do a piece of work in 4,5 and
7 days respectively. If they get Rs. 415 for
working together to complete the job, then

A R C _A’s share (in rupees) is:

A, B, 3R c Rl FF # ardar Fr
|, 1 4 459 7 Rl # QU T THS §] IR
y- 5 1 57 8 [ WA F @T 415 W

' ' Ao & aYA &1 e gem?
25 X8 20 a)170  b)185 175  d)180
75 =22 X5 T
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s _>x5

‘A’ and ‘B’ undertook a piece of work for Rs.

5 68040. They started the work and completed in

5 days. If ‘A’ got Rs..24B0 as his share, in how
n_laﬁ_/—aays ‘A’ alone can’Z&)mpIete that work?

A 3X B 6000 T F TRt FHT Fr FA
¥ AT IR @ I &) A FA FE Y
TS § IR 5 T F @aw a8 3R A
&1 REdr 2400 TT § oY A fraar et &

a) 12 12 1/2 c) 13 d) 8




A and B undertook to do a piece of work for
Rs.4500. A alone could do it in 8 days and B
24 alone in 12 days. With the assistance of C

A- % they finished the work in 4 days. Then C’s
share of money is
B2 A 3R B I UF FH F 4500% H F&
&1 a7 fFan A eﬁr& 39 8 el #F =
ABcC 6 "Far ¥ 3 B 12 R 7| ¢ A wERan
327 1 xUB¢D=T750 ¥ 3wt 4 R #mwwﬁml
ey A ar 3=t & caHr %WT FaT ¥?
6 a)Rs. 2250 b) Rs.1500

_€Rs.750 d) Rs.375
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The labourers A, B, C were given a contract of Rs. 750
for doing a certain piece of work. All the three together
can finish the work in 8 days. A and C together can do

it in 12 day, while A and B together can do Ifﬂ? 13\—
days. The money will be divided in the ratio.

?h?ralﬁas‘rABca;’raﬁ;wmoxwﬁm‘Tm
F QU A F AT Femm aar | ¥ gt A=
fAaet 57 1 # 8 AT H AT FT THhd § |
A 3R ¢ = PAaet 39 12 & &, sefF 4 3k
aﬁ?l’rﬁwsﬁm—ﬁa’r#wwm%l
mﬁﬁmﬁﬁmﬁm#ﬁﬂmm

d4—:5:6 b)4: 7: 5
c)5:7: 4 d5: 6:8

| SSC CGL 2016 T-2 | 6



‘A’ and ‘B’ working alone can complete a
work in 15 and 20 days respectively. ‘A’
started the work and ‘B’ replaced him after
5 days. If they were paid Rs. 4200 for the
work done, how much did ‘B’ get?

A 3T B fFHY &Y &1 wAm: 15 31 20
e # qu &7 @9 & A 39 FA F
5

mwm%sﬁts e & o
SEH SUE W 3H B H AT YR
AT §] 3R 3R 3T ST F 4200

4
9 fATS & dYB &1 fREar gar #3|
a) Rs. 1800 2) Rs. 1400
3)Rs. 2400 4| Rs. 2800
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A can do a work in 20 days. B can do the same
work in 30 days. A started the work and B
joined him after 5 days and completed the

work. If they were paid_Rs. 4000 for the work
done, find the share o{/

A fFH &1 #7120 T & &7 gFar ¢| B
38 F A 30 ﬁ?r:ﬁrawmihA#
FIH T A Far 3k B A 58T & a€
SHEH WY a1 & fhar 3R wRr F b
RFaT| 3R 37 98 FH T F 4000
U fAer & arA #1 ffwwr fha«r gemn?
a) 1200 b) 1500

¢) 2500 #2800




A completes a work in 10 days and B in 15

days. They worked for 5 days and the rest of
A :)) the work was finished by C in 2 days. If they

-2 5 got Rs.1500 for whole work, then the
2 - combined daily wage for B and C is
B Su AT 10 el & QX &Cam &
Sy 2ot B 15 Rt # i 5 Ret aw
C 2-5 o) w1 fFar 3k aﬁ?r cCa2 ﬁa’r

F HH
A qu & fGam I 57 @ F7 &
B

q ﬁvlsoomﬁrﬁ%,a’r IRc &
"’__@)( =375 fov wg7a s dae AT F
%? X a) 150 \¥Y225
¢) 250 d) 300




‘A, ‘B’ and ‘C’ working alone can complete a
work in 24,32 and 96 days respectively.l'A’
started the work and ‘B’ joined him after 4
days and ‘C’ joined them after 4 more days.
If they were paid Rs. 12,000 for the work
done, how much (in rupees) did ‘A’ get?

A, B, 3x c Rt I Fr 3FSF FAY
24,329 96 T # QU #X TFA 8| A A
FIH T A fFar i B 7 4 R &
915 3WHT W o Y& fhar qur ¢ ik
4 & & q16 3R WY S 31| 3R
3T H 3W FA & 12,000 T A @
arA FT feear fardem gem?

a) 9800 bf 7250

c) 8400 d) None
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X550

P,Q,R are employed to do a work for Rs.
5750. P and Q together finished % of work

and Q and R together finished % of work.
Wage of Q, in rupees, is

P,Q,R f&Y #1F & Rs. 5750 H A &
T e I §) P 3R Q FRF & Egan
f%FHﬁ‘fU?ﬁTﬂ'%’3ﬁTt?3ﬁT123ﬂﬁ'aﬂ5%

ar REAT QU &A@ 8] Q F AgAawE
foraeT g9

a) 2850 b) 3750
c) 2750 1000
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A ;‘1’_"1;;30: 5
7

qo

)
B F5x1=204d 2
5

The daily wages of A and B respectively are Rs.
3.50 afd 2.50. When A finishes a certain work, he
gets a total wage of Rs. 63. When B does the same
work, he gets a total wage Rs. 75. If both of them
do it together what is the cost of the work?

A 3R B # 3% ATl wAw: 3.50 ¥ 3R
zsox%lAaammwaaT%a’rw

mwxmw,:&a: e § 159 B 3d
¥s o HTH agm aa;mnaq:& E%q 75a'§r
e 8 1
%_—XB:B—S FH FL A FIH A FIT AT 3T 2
£ X ks 67.50 b) Rs. 27.50
Q s c) Rs. 60.50 d) Rs. 70.50

SSC CGL 2016 T-2 1z



Men, women and children are employed, to do
a work, in the proportion oﬁ,‘g/.g §hd
their wages as 5.: 3: 2. If 90 men are
y (o]

employed and to-z daﬁ\./ élages of all amounts
to Rs. 10, 350. Find the daily wage of a man.

e, ARG AR soat F A A B
FA & AT 3:2:1 & eqaa F & I
#R 3AF AgTAR FT AT 5:3:2
90 3IETAAT FHT FTH YT FIAT IAT §
wsit #T F Ageidlel 10350 F 9fd
gar ® e ameAr @ ufafee

gram?

a)Rs. 115 ﬂRs. 75

c)Rs. 45 d)Rs.57.50

g‘il’%ﬁ""‘

| SSC CGL 2012 T-2 | 13



Amar and Umar can complete a task separately in
12 and 18 days respectively working at 8 hours
per day. They started the work at 8 hours per day
but after_ 4 days Amar found a girlfriend and to
spend time with her, he made his work part time,
which is 4 hours per day. On the other, hand,
Umar, who is in need of money started working for
10 hours a day. If a total of Rs. 28800 is paid for
completing the task, how much Amar gets?

I IR A R I & R 8 5 +d
gC HAY 12 AR 18 R & qU T FFd 7
3egie 8 we wia Rer 1 Fen % frar w4

Rs. 12600 Rs. 14400
Rs. 16000

| | 14

a)Rs. 12000 b
d)Rs. 15000 e

—




* Tank capacity questions




X 3

X+Y 5
2 Au— 10 W

60u

Tap ‘X’ can fill an empty tank in 20 minutes.
G-Nhereas tap ‘Y’ produces 10 litres of water
per minutglf both taps X & Y are opened
simultaneously, the tank gets full in 12

minutes. Find the capacity of tank?

oo ‘X e el & # 20 A9 & W
Hhdl § JTafd o V' TH fAelc & 10
deX gl oxar & 3R &Y Tdl A TH
% fHar se ar % 12 Aee A
T SATaT ¢ &F T &FHAT AT

a) 75It b) 1001t

c) 1201t 300 It




Tap ‘X’ fills a tank ‘A’ in 15 hours, where as
another tap ‘Y’ fills the same tank ‘A’ in 25
hours. If taps ‘X & Y’ together can fill a
second tank ‘B’ of capacity 1600 litres in
10 hours. What is the capacity of tank A?

ad ‘X ﬁra"rﬁ'a:‘A' H 15 Eiz’f’:ﬁf

aﬁm%#mm%la’ré? &I
AT AT I

a) 1000 Its b) 1225 Its
c) 1800 Its 1500
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A tank has three taps A, B, C. Tap A empties 5 buckets
of water in every 3 minutes. Tap B empties 3 buckets
of water in every 2 minutes, whereas tap C empties 2
buckets of water per minute. If all three taps are
opened simultaneously, a full tank gets emptied in 30
minutes. If each bucket holds 8 litres of water, find the

capacity of the tank?
P dF A3 aaaAB 3R Cc | aa A & 3 RAae
H 5 91ed) el ATer ThaT 8] A B & 2 AT
¥ 3 e g@ar § 3R a9 ¢ W
Sl

a) 1200 It ﬂ1240 It ¢)12501t d) 11501t
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